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Explanations and answers to select questions

07 Option (C) is the correct answer. ‘Nest’ is a group of rabbits.

10 Option (D) is the correct answer. The seven 4-lettered words are : Dent, Dust, Dues, Dune, Dens,
Dunt and Duet.

17 Option (A) is the correct answer. Both actions of ‘reaching’, and of ‘bringing’ took place in the
past. But of ‘reaching’, happened before the other, so that is expressed using past perfect and
that of ‘bringing’, which took place in recent past is expressed using simple past.

20 Option (B) is the correct answer. Neither represents ‘Not either’ agreeing with the singular verb
‘is’. Pronoun ‘any’ too represents a singular noun.

18 Option (D) is the correct answer. We need to use a comparative degree (thinner), as we are
comparing today’s look with that seen last time.

21 Option (C) is the correct answer. The first ‘the’ because the noun ‘bicycle’ has been just used
before and so referring to that (a particular bicycle), and the second ‘the’ because you are
referring to a specific day, ‘the one after the day of buying’.

23 Option (C) is the correct answer. The first pair is of synonyms and so to make the second similar,
a synonym.

29 Option (A) is the correct answer. Though he could not speak, the husband could hear and
communicate using signs.

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.
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